N & 0l & At

20228 & 20

A LBHSI A 20 AIE 22l R A

N 20HAE2ARA
g 2oAE 29

& 23AIE 22

g & M A

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
FUAIZ 22 AR 2,318,645 1,937,202 381,443
2 82,808
Al 2,235,837
ZSANE 29 2,127,374 1,765,222 362,152
= 82,808
Al 2,044,566
Al 22 2,127,374 1,765,222 362,152
= 82,808
Al 2,044,566
==z 29 914,788 950, 821 A 36,033
101 1A dl 25,174 13,195 11,979
M4 JI2ZHZEXNSES 25,174 13,195 11,979
OFZ+ ®X sgo=Y
179,203 & »4H x5 33 10,753
Ox&d=+ dX 2S=2Y
141,096 & *3H x5 33 6,350
O&fg HM=xg o2y 8,071
—Jlas 73,2803 +4H x5 x4 3| 5,863
—dMEUIEETY 27,6003 *4H x5 43| 2,208
201 L2l 379,299 410,826 A31,527
01 At 22l 100,615 79,053 21,562
Oger==EH| 52,986
— MY IIE2E P (5021E) 990 *60&*x12& 713
—MgIIsE 2L (7521H)
1,4703+70& « 128 1,235
—St&AE ARE Y (HEESEX 2)
300,000& »12& 3,600
—HAEF FYQISZAU, 20, Z2EH
g) 2,500 & x5000 x 128 1,500
— Sst=s 2 SN BASE(&AS 0tA
3) 7¢ 500,000 *20H 2 1,000
—=sA4d FRF MEH 60,000& 123 720
—RoZHEI= (g2 B =22Aal)
365,000& 123 4,380
—2UHAIEE Z2EEIZ 1,000, 000& *13| 1,000
— &) 2 =2 25,0003 «6CH«123 1,800
—St&E4 Hid ¢ ===  400,000& «12& 4,800
—AUYSI2ALRUY 22 (3 2)
600,000& »12& 7,200
—AUAIE FUKHEIG =22 (3 H)
2,000,000& x13] 2,000
—JtAANE EIIZ2AM =2  300,000& 13l 300
— 32 HIANE BLEE ==&
3,500,000& =13l 3,500




FA: 2UHAEZEAIR A
g 2oAE 29
Chel: EStAlE2tel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— 320 2 === (32)
160,000& »2CH 128 3,840
— 520 BIBN 242 (3R)
120,000 »2CH 13l 240
—3JE22d EIIBAMN==2
500,000& *1CH*13] 500
—HIINEE HIIZ A2
1,050, 000& *13] 1,050
— S g2t AW AEX WA =42
70,0003 *2JH 2=« 1200 & 1,680
— 2 ss2(HAS, BAS)LAH(AS)
450,000 x63] 2,700
— 230=32 SHFE Oote XS4
150,000 »2CH 53] 1,500
— 3|2 BOLAIAE(CCTV) Z2HIEY =25
578,000& 1200 & 6,936
—SEM=2eiel BAIAHE(CCTV) BHIEZ
T2 66,0002 1201 & 792
Odltetll A== FIIANEEBH ==&
5,170,000& x 13l 5,170
OR230£32 AES JUAMEY 4+48
15,300, 000& * 13| 15,300
O2stti=sl2 dAS dLt&)| Fa 4,546
— & & dway 180,000& = 18CH 3,240
AHEE 145,000 7 CH 1,015
—g2gs7l 145,500 24 291
O2sti=sl2 s dteE)| 4 1,371
— & & &dway 180,000 »6CH 1,080
AREE 145,000& = 1CH 145
—g2gs0l 145,500  1CH 146
O3 5448 AFXNEE SES A
= 2,950
— 8= & 110,000 =40 53] 2,200
—cl= 300& 50001 *53 750
Oz H=xE =X wAH
300,000& x10& 3,000
O=23tud HEA 224| 1,000, 000& 14 1,000
O2stus =AM NZTLHS F4
2,000,000& =14 2,000
O 2g=¢ 840
— 230=32 HEAXI ’é'i.fv‘—%*
70,000& x128 13| 840
Oul=l 700
—2HasY ARE=
700,000& x1H *12 700
O= &l 10,752




N 20HAE2ARA

g 2oAE 29

CH2l: 23tAI - 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
— Sslt=3& S0 A E20AH|
8,000 x14H x83| x12& 10,752
02 2224 4| 268,684 231,773 36,911
O2222 <2 HA 156,679
—SI22sliss 2HE s &3l
5,000,000 13| 5,000
— S22l 2HEa SEHMEXE HE
ull 1,000,000 13| 1,000
— S5l & Wetet JIA =2
2,000,000& x12& 24,000
— SN EH S (A ST 60,000& *23] 120
— 230z M2 9,000,000 x12& 108,000
— 22X ASESE NS XHAM(7883736)
70,000 =10 *23] 140
—ZEss2de M2
580,000 =120 & 6,960
—VEINY LHSE VSHUYLH2
88,990& * 1L ~13] 89
— Ssli=s& & otk 22
600,000 x12& 7,200
—24Z2XNY A58 ANSHSEEE=
300,000& x1CH =13l 300
—JtAZE=olAHABSEH S 100,000& *13] 100
— ABIOFM S B H| (3 2) 50,000 «13] 50
— &D|orM 22l 3l (32) 120,000 13 120
— 2B MEG L QIHUAIZE 300,000 x12& 3,600
@)%E=1:] 3,805
—HASED| H2H(ESR
1,440 %4004 ~1CH 576
—AESEXNH2H(EBR)
1,440 %1204 ~1CH*12€ 2,074
—&XHAE W=D d2H (LK)
1,650 x100L*4 3| 660
— 2 Y2 ASH I (FEYSR)
1,650 150L*23] 495
OAl& ZHl KX 4| 108,200
— 22 2 J|HEH KX
68,000,000 = 14! 68,000
— 203 ot AL (2HBEU 2AH)
500,000,000 * 1% 5,000
— 3l Kot (S43) A
4,000 x650m" *x23| 5,200
— 3l JIAHA WD A2
10,000,000 = 1Al 10,000
— 3@ B2AE JIIIEH(RWH, XH, S8)
S X 22| 20,000,000& = 14! 20,000
03 A2 G HI 10,000 100,000 A 90,000




N 20HAE2ARA

EHa: éﬂ)\l’é 29
Chel: EStAlE2tel (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OJIgldAN2Y 10,000, 0002 14! 10,000
202 oddl 5,400 5,400 0
01 = LH 4 1l 5,400 5,400 0
Oet2d ZII83 & 0lAtel &4 22 bl
150,000 49X x63| 3,600
OdAl HEFE HAEOW 22 4H]
150,000 *3H *43| 1,800
206 M= Hl 26,815 26,400 415
01 =8l 26,815 26,400 415
OdANE 2883 F*Y 10,000, 000& * 14 10,000
Otz S0 SLEE Y (RUHZY
#HI 9 108) 10,000, 000& 14 10,000
OSAWAE 4RUR AEDY
60,5003 304 1,815
OJIAH, Ml & 22F #+2  5,000,000& 14 5,000
301 LEXZ 12,000 17,000 25,000
12 JIEtE4 3 12,000 12,000 0
O23na LAY 100, 000 & *4JH BH+303] 12,000
401 Al BIZ 201 8I 452,000 460,000 A 8,000
01 A& HI 452,000 460,000 A 8,000
Ostl=sl& SAALSA =22 WX
100,000,000 =14l 100,000
O =32 SHAZS WA SA
152,000,000 * 14! 152,000
O23u=3 & AIE2 HE=HI
200,000,000 =14 200,000
405 TtabF S| 14,100 18,000 A 3,900
01 AL EFSFHSHI 14,100 18,000 A 3,900
O2sto=sl2 TSHA QY H. &Il 4
Xl 1,620, 0002 14 1,620
OFstl=sl& 3HE LED RLAU0E 7Y
10,500, 0002 = 1CH 10,500
OZ3g¢& &H 224 2 990,000& 204 1,980
N2 SHE 23 973,543 631,671 341,872
101 @124l 21,088 17,992 3,096
M4 JI2ZHZEXNSES 21,088 17,992 3,096
OZZd+ ®X sgo=y
179,203 & »4H x5 +23| 7,169
Oxd=+ MK 202
141,096 & *3H x5 +23] 4,233
O&tEg M=xg 2 6,457
—Jles 73,2803 *4H x4 2 x4 3| 4,690
—MEBAIEMALD 27 600 «4H 4L <43] 1,767




2A: 2OHAE2 AR A
dM: BIANE 2
Chel: EStAlE2tel (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O3E otApeed o2y 3,229
—Jl=s 73,2803 x8H x4 3| 2,345
—MEUZENMSY 27,6003 x8H %43 884
201 L2l 524,075 469,879 54,196
01 At 22l 183,210 118,601 64,609
Oget=&H| 175,818
— ME MYIISSH(75L) 7+
1,470& x100& 128 1,764
—4dH FEAE AR2E U (EEBEFEA
2l) 200,000& x12& 2,400
—4dlH FAEE 2LIELZ 2)
2,500& 5001 x128 1,500
— My =&4d 72T MEH 60,000&*12& 720
—dg foFH 92 220,000& x12& 2,640
—ME 220 BAUH +42
330,000& »12& 3,960
— 4y &20 HIIdAM =22
120,000& *4H 2 %13 480
—HE AggsY ALY L4
900,000& »12& 10,800
—HdH HIANEE EINTA =2
3,000,000& =13l 3,000
—HdE JIAANE BIIEA =8
400,000& *13] 400
—HIE ASAIY HUOFID 242
2,000,000& 13 2,000
—HdE SHEAN L JHE HE
700,000& *23] 1,400
— M AtEAEIIEH HIIZ2M =2
1,700,000& 12l 1,700
—dH F3AE49H| 75,000,000& =14 75,000
—HdE A M U =2
17,0002 x 110 2+ 123 2,244
—dE F5) LU =8
25,0003 x50 A 122 1,500
— Mg BOtAIAE(CCTV) =2
320,000& 122 3,840
—HE A2 HUOFEY 448
19,500, 000& 14! 19,500
—ME AEE MIONEY 442
6,600,000 » 14 6,600
—HEH HSHE FIAEHZA =2
23,340,000 =14 23,340
—HIE ADOE HIGFAAN 222
6,080,000 » 14! 6,080
—dEH SHE OO0t =&l
150, 000 & *3I4 & *53| 2,250




N 20HAE2ARA

EHa: ;iMI’é 29
Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—ME SHE A (A=) 450,000 63 2,700
O= &l 7,392
—HIE 2ol MAIEXO G2 S20§AH
8,000& « 11 +7L+128 7,392
02 =224l 340,865 351,278 A 10,413
03322 % HA 287,780
—dE &JIes 13,548, 100& = 12& x90% 146,320
HE Hog JtAZ 3,300,000& x12& 39,600
—ME YBHEE U OEHY ABE
115,000& = 12& 1,380
— My &.5tx% 23
9,148, 100& » 12& x90% 98,800
—dH g8t RERS 3003 +150A4 +12& 540
— 4y S 2EHRZ 4,0003 1521128 720
—HdE JtAZEGHHIY HUBEZ
100, 000& * 13l 100
—MIEH AN 3l 200,000& x13] 200
— My &IIotA 22| &3l 120,000& * 13l 120
OdAZHl 885
—HIE HAZIEI A2HI(ER)
1,440 *500L* 13| 720
—dEH H=J A2H(HLR)
1,650 *100L* 13| 165
O AM&&EHIs X 52,200
—HdE SHE JIILEE (2. 29 . )= X
22| i 1,500,000& = 12& 18,000
— 4l ZHE oty (SAEH 2H)
400,000,000 1% 4,000
—4dlH Xt (283) A
4,000& 650 m" *23] 5,200
—dlH H 20 M20 (Bt 2§
15,000, 000& * 13| 15,000
—ME SEI| ZE(20000) wX
50,000& 2004 10,000
202 O4dl 900 800 100
01 =S LHA YI 900 800 100
O2tAIEAs & SHEY PRFA 220l
150,000 »2H x33| 900
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
OdH 2888 F(RU=H 888)
10,000, 000& * 14 10,000
401 AIEHIZ 28I 362,000 100,000 262,000

01 A& HI 362,000 100,000 262,000




2N
X ZH -
L= B

el

Ol Al & 2t2] AR &
StAIE 29
StAl & 2el

M0 MO MO

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMdEH Z2AHZE 2UDJIHEX M2 A
220,000,000 « 1Al 220,000
OANBI2FAHSHE SSAE 26|
142,000,000 =14l 142,000
405 XHo&HF S HI 55,480 33,000 22,480
01 XA 2 FF S| 55,480 33,000 22,480
OHdEH HEHZE HoxE2s A 2
40,000,000 =14l 40,000
OHE 2% oo 2245)| 2
990,000 =2CH 1,980
OHEH XIotHSA AlAE 2 2
13,500,000% 14! 13,500
B0e EQRSISN =2 al=x 19,000 19,000 0
= 19,000
201 et d| 15,544 15,544 0
= 15,544
03 HAI2 G H| 15,544 15,544 0
Ox20s EQEssn tlasddils 29
15,544 ,000& = 1Al 15,544
= 15,544
301 et ™M= 3,456 3,456 0
= 3,456
09 HAIAHI X & 2 3,456 3,456 0
Ox&0s EQEssn Al ¥ 2HAH|
3,456,000 =14l 3,456
= 3,456
gtgt =233 89,680 150,730 A61,050
= 53,808
Al 35,872
201 et 9| 89,680 150,730 A61,050
= 53,808
Al 35,872
03 A2 HH| 89,680 150,730 A 61,050
OWYR=Z 2322 MY 243 T2y
22488 F&X 89,680, 000& x 14! 89,680
= 53,808
Al 35,872
2032 Stz usmz O XFAY 13,000 13,000 0
= 10,000
Al 3,000
201 et 11,200 11,200 0
= 10,000
Al 1,200
03 A2 | 11,200 11,200 0
O20 a2 Sz )& X
11,200,000 = 1Al 11,200




2N
X ZH -
L= B

el

Ol Al & 2t2] AR &
StAIE 29
StAl & 2el

M0 MO MO

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 10,000
Al 1,200
301 et A= 1,800 1,800 0
09 SHAIAHI X &2 1,800 1,800 0
O20a& SsltlzsnsZ2 0 X
1,800,000 = 14! 1,800
Sstils=zl 2 J&EsA 117,363 0 117,363
101 e1214| 5,863 0 5,863
04 JI2ZtHIZ22NEES 5,863 0 5,863
OJlEZe 2N L MY o2
73,280& x 10 83| 5,863
201 et d| 106,500 0 106,500
01 A2t 2| bl 16,500 0 16,500
OJIg&2d g2 H& 16,500,000 =1 Al 16,500
03 Al A H| 90,000 0 90,000
OJIg&Ead F& 90,000, 000& x 14! 90,000
301 et M= 5,000 0 5,000
09 #HAIAHI XIS 2 5,000 0 5,000
OJIEZe AP ZF (M AlY (2LAH)
2 WEH 5) 5,000,000 =14l 5,000
HHSHAY (S0 AL 22l ) 191,271 171,980 19,291
lE2AH| (20 AL 22 D) 57,647 46,316 11,331
CladA2AH| (20 Al & 2elH) 57,647 46,316 11,331
101 Q121 H| 57,647 46,316 11,331
01 2= 57,647 46,316 11,331
Oxl2z22LE 57,647
— 542244 88,9603 18 x36L 57,647
|2 ZH| (20 A& 22 13H) 133,624 125,664 7,960
J28H (20 A& 22 H) 133,624 125,664 7,960
201 et d]| 77,044 72,204 4,840
01 AP 22| H| 77,044 72,204 4,840
Ogbt=2d| 15,724
—JI2ANEE 3 100,000& »22H 2,200
— 32 2 HYH CXE 28] AHE2
190, 000& =2 x12& 4,560
— 32 L HE 2AD SXN2AH(EYH S)
330,000 2CH x33] 1,980
— 3|3 2 MY Z2lfg, A A2l
237,000 *2CH *33| *2H A 2,844
—Z2A2X U (32, 4H4H)
23,000& 158t A x12& 4,140




2N
D AN SATH (20 AL 22D

el

X ZH
S =

SOAIE 2R A

J=23HI(20IAI& 22 D)

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
o234 61,320
-2 ENLY (S HE)
0,000 x2H 3652 +60, 000 & x2H x 120 58,200
—gNLg(ZEHEAY)
60,0003 » 13 x522 3,120
202 oddl 52,800 49,680 3,120
01 SLHOIYI 52,800 49,680 3,120
OZ0WAIZE2CAIRL JI2HE 2O I
20,000 x22H 103 52,800
203 YR =2l 3,780 3,780 0
04 FN2ELSZ=TH| 3,780 3,780 0
OZU A2 AP A 350,000& = 12& x90% 3,780




